
The Bloomers! Schoolyard Curriculum is in-
quiry-based, therefore all answers the children 
give are valid. The answers here are only meant as 
examples to get the discussion started.

What is the name of Professor Sage’s puppy?
Answer:  Dogwood.

Which of the Bloomers! knows why the Hidden Forest is 
hidden?
Answer:  Big Red. He knows that it is hidden because 
trees are very important and Queen Palm did not want 
anyone to harm them.

What species knows the secret to finding the Hidden 
Forest?
Answer: The fireflies. 

What does Professor Sage say the Bloomers’ acorns will 
grow into?
Answer: Into an Oak Tree.

“The Quest”


